Concept Lecture -9




Three fractions x,y and z are such that x >
y > z. When the smallest of them is divided by

.9 .
the greatest, the result is T which exceeds y

by 0.0625. If x +@+ z=2 13—2, then what is the

valueo

x,y3iz AT W EF x>y>z8 I
394 ¥ 99 B F g I3 ¥ fafea
Rram S &, @t oo 2w @ §, S
fF vy ¥ 00625 30+ 81 I x+y+z=

22 ¥, @ x+ 2% AT AT FY

@ w9 g
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Let x,y, z be fractions suchthat x < y < z.If z

2. %=5.2 is divided by x, the result is g, which exceeds y
7 11 .

by " If x+ x+z = IE’ then the ratio of

(z—x):(y—x)is:
ﬁj-.—. o _7_3%2 _1 AT x,y,z W BT § & x<y<z @
y Y 3 g z & x ¥ Qfea fFar se at

\/ RO D oI @ar g, Sy @ 7 sl B

(L))
r)

I | 12 0 R G = seua v gm?
6:5 b)9:5 5: 5:
%i Ve )9 5:6 d)5:9
& 2‘;76__
—Q'5
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If (a+b):(b+c):(c+a)=5:7:6 and

Q;bﬁC=—-2:§$l4 2a — 3b + 4c = 66 then value of c will be?
l"é’ I (a+b):(b+c):(c+a)=5:7:6 3R

2a —3b +4c =66 A ¢ FT AT gHRM?

2Y a) 12 b) 18 @24 d) 12
Y-9 4 6=llu— €6




2
b

22912526

a:bic=23'"6.6

Al

)

'3

If a, b and c are positive number such that

a’+b%):(b%+c?): (c? +a%) =34:61:45,

then —)a (c—b c)—a— N——

qﬁa,bﬁcﬁﬂﬂ?ﬁmm%ﬁ?
a?+b?): (b*+c?): (c?+a*)=34:61:45
?-ITb a:c—b:c—a-= |

a)3:2:1 b)3:1:2
)1:2:3 AM2:1:3 14
lo 6 :_6_]_
EEUR
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Ifa:b = 5:7 and c:d = 2a:3b, then ac: bd is:
I a:b = 5:73Rc:d = 2a:3b, @ ac: bd :

a) 20: 38 ) 50: 147
c) 10: 21 d) 50: 151
C. 2% 2,
_@_Q.-_ _ngé OL‘ 3b 277
bd. b d
:5)(2’ .S =
17379
= GO
17
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Five years ago, the ratio of ages of A and B was 3: 5.
Find the ratio of their present ages?

5 ¥ 9ga A 3R B T A FT eI 3:5
oq| 3 TAATT 3T HT 31?r=r|t-r AT

a)2: 3 b)3:5 c)4: 5 @Can’tsay

A %
x Hxe
45 ORth
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J40-0= [20
N M
12, |3/ 42, ug

By

The sum of the ages of the 4 members of Sinha
family is 140 years. 5 years ago the ages of the 4
members Nishu, Vicky, Mrs Sinha and Mr Sinha were
in the ratio of 2: 3: 7: 8. After how many years would
Nishu be as old as the present age of his mother?

T aRar & 4 wewat A 3y F1 AT 140
a¥ & 59¥ ggd 4 aaw’rﬁ"er R, shaeh
maﬁtaﬁmaﬁrm2378$m
# offl fhaa ¥ @ fy & g sEH A
a'ciﬂ'mma?mavnv

a) 10 yrs b) 17 yrs @30 yrs d) 32 yrs




T

m s F
6 1 . 8w
\] 6 - 13
1% & . 15

e,

The present ages of a mother and her son are in
the ratio of 6 : 1. When the son becomes as old as
his mother now, then the ratio of his father’s age
to his mother’s age is 13 : 11. When the son
becomes as old as his father now, then the sum of
the ages of the father and son will be 115 years.

SHH AT H I F AT 13 : 11 g0 o
9 Y, 39 T qAART Y F &
geft, af far 3k 9T Y 3y # 115
a¥ gren| Rar i gdde Iy AT R

40 years b) 45 years

c) 42 years d) 44 years
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The ratio of ages of the father and mother
was 11: 10 when their son was born. The
ratio of ages of the father and mother will
be 19:18 when the son will be twice his
present age. What is the ratio of present
ages of father and mother?

far sk A #r 37 FT AU 11:10
9 3% §¢ FT SAoH gan g1 far
AT & 3H HT 9T 19:18 gWm,
T A WY A qdAS WG A
& stwen] Rar sk A7 F adA=
T T FIAT AT 87

%1%-5

g

@15: 14 b)14:13 c)16:15 d)17:16
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The ratio of number of boys to that of girls
in a group becomes 2:1 when 15 girls
leave. But afterwards, when 45 boys also
leave, the ratio becomes 1: 5. Originally the
number of girls in the group was




The total number of students of a school was

The ratio between boys and girls was

13:9. After some days, 30 girls joined the
school and some boys left the school and new
ratio between boys and girls became 6: 5. The
number of boys who left the school is:
% fgAET & Fa 660 B gl dASHI
3ﬁT wsfeal &1 s 13:9 §1 $o Rl
a1g, 30 JSRRAT AR @dr § e F6
a5% fgamea 813 X 9o a1 § oad
5% I wefral &1 A9 U 6:5 @
JaT %, @ ReFed o & W ae
m N wEAT AT HfOA:
a) 50 4o ()30 d) 60
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The ratio of incomes of two families is 5 : 4. If
they respectively spend 80% and 60% of their
incomes and save the remaining, find the ratio of
their savings?

ar gRERT #T 3T FT HUTT 5:4 § PR A
AU T FT FAT: 80% T 60% T FIS
€ T G J91 Ad § A 39 ganr dfr T
T T FIT HAITT §IN?

a)5:4 b)5: 3 @:8 d) Can’t say




[ 3

-e ‘H’ 2y

S @x—\d}: (3x-y)

The ratio of monthly incomes of Aand B is 2 :
3. If the ratio of their expenses is 1: 2, find the
ratio of their savings?

A 3R B afd® 3T F1 I 2:3
IR 3% Gdl T AT FAA 1:2 &
3T Tdd T I AT FL?

a)2:5 b) 4: 3 c)5:4 @can’t say




The ratio of monthly incomes of A and B is 2 :
3. If the ratio of their expenses is also 2 : 3, find
the ratio of their savings?

A 3R B A ARAF AT FT HqUT 2:3 7
A B mzm}?aﬂ’fﬂmzs ¥ oar sed
q9d &I 39T AT
Yy (a))2:3 b) 4:5 c)3:2 d) can’t say

v J
Ay 3y A:%f(g

—1- v i)
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When we increase both the numerator and
the denominator by 7, a fraction changes to
3/4. Find the original fraction.

IR gH frdlY @esr & afer 3T & @Y
H 7 Jisd § O BT 3/4 & &Y @
STt 8] AT et Fa

¥is/12 M 7/9 2/5 d) 3/8
M7 A5
A g Iy




The ratio of the prices of two houses A and
B was 4: 5 last year. This year, the price of A
is increased by 25% and that of B by Rs.
50000. If there prices are now in the ratio
9: 10. The price of A last year was:

Ao @1 & = A 3R B & HeAT #
FIT 4:5 41 39 9§ W A T qed
ZS%W?MTE'EITBWWSOOOO%'
¢ 91| PR AT 36 Rod @ @ A
T Hed FIT T@T gom?

@Rs. 360000 b) Rs. 450000

c) Rs.480000 d) Rs. 500000
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yxgxx 2

, A _ x
¥

The ratio of the salaries of A and B was 3: 4
last year. If the salary of A is increased by
20% and that of B is increased by Rs. 2000,
then the ratio of their salaries will be 4: 5.
Find the present salary of B?

A 3R B #Y AT FT HqUTd IT a¥ 3:4
UT| 39X A &Y 3T 20% JdAT B & AT
2000 ¥ &1 g 3R 39 3AAT T FHT
U 4:5 §] B Y TAATT T TAA?

a) 4000 b) 16000 Jf18000

d) 12000 e)None




A man ordered 10 physics books and some chemistry books.
The price of a chemistry book is twice the price of a Physics
book. While preparing the bill, the clerk interchanged the
number of physics and chemistry books by mistake, which

decreased the bill by 12 % %,.,;I'he ratio of the number of physics
books to the number of chemistry books in the original order is:

g afFa, wifas e i 10 frae 3 @ Ta e
a?rwﬁmﬁswétmﬁmﬁmﬁmm
H—uaﬁﬁ?ﬁamfrﬁmﬁa;m#a’lma

TS AT, TN ¥ Fas siRQE QAW IR @ET
RAae i fFael & e f s &= & §

ﬁwﬁaﬁlz—%maaﬁh%|wm#sﬂﬁ$

Rremer &7 Freral @ wEar it wEe R & e
$Y TEAT FT He[UTd AT H -
a)3:5 b)3:4 c)4:5 :3
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The ratio of number of balls in bags x,y is
2: 3. Five balls are taken from bag y and are

Q0+5 = 30~ 5 "?°| 3gropped in bag x. Number of balls are equal
in each bag now. Number of balls in each

0= a bagnowis
- X, YS9t 7 gt Y §EAT FT 9T 2:3

¥y &1 & 9T g PEr FT 4T x A
st fear Jrar g, ar | d9Y F e
ﬁ?\' E’Iﬁ %’I Jcdh crigi - ) il?\:f & H‘Cﬂll
AT A

a) 45 b) 20 c) 30 @25
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o _ P
Y+a 1
= XqtQ9 = pytpr
o qx-pYy HPEE)x
-1

To get the ratio p: q (for p#q), one has to add to
each term of the ratio x: y, the number

p:q (for p # q) & IUid &I U F faw,
xy %m*aﬁa’rw‘r#1aﬂam
¥ wEg AT A

a)(px+qy)/(® — @ (gx—py)/(p —q)
Apx—qy)/(p—q) d)(py—qx)/(0—q)
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53)20 (Y24

Suwn P

Bf( %% \AOO\
Uta

If the ratio of sum of two numbers, difference
of twg ngmbers and product of two numbers
are 13: 3:‘1_62,_then find the sum of Squares
of two numbers.

Ife @ TEanit 1 oAer, a3k
IOTAH FHT HTdrd 13:3:160 8, @ 3o
& TEA F a9 F AT AT P

a) 1921 @1424 c) 2000 d) 1536




The number of boys in a school was 30 more
than the number of girls. Subsequently a few
more girls joined the same school.
Consequently the ratio of boys and girls

became 3.5. Find the minimum number of
girls who joined subsequently.

UF Th A as@l H qedr asfEat
&A@ 30 AfAw oA A A, Fo AR
asfral o & T F anfArer 5| a6 H
as# AR wsfREl & w35, @
ar, @sfFal fr AR wEwn, St 9
H afAar g8 ?

a5t (sz 053 d) 55
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P, Q and R together have 180 candies among them. P
gives @ and R each as many candies as they already
have. After this,[i{ gives Q half as many candies as Q
already hasaand[R also gives P twice as many candies
as P already ha§.G\|ow each of them has the same
number of candies with the@ What is the ratio of the
respective number of candies P and R had initially?

P,Q 3R R & 99 Fo Aemt 180 F3 & P, @ 3R R
YAF 1 3 & $2 &1 ¥ Braeh B 3E O e @
%Isaﬁ?m R, Q a:‘rmamfrm#%—s"r&m%l

et ¢ & 9w wga @ %mR,Pﬁmmaﬂfﬁ
wear § ¥ a?n%| P % 99 g ¥ & & 3@
A A IAF FUH AAA FEAM A N g | P IR R &

U AR # et wEar & &3 Y, s FAen e
GIGEJIE L]
a)2:1 b)3:2 c)12 .53
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According to Mr. Sharma’s will, half of his property goes to
his wife and the rest is equally divided between his two sons,
Ravi and Raj. Some years later, Ravi dies and leaves half of his
property to his brother Raj. When Raj dies h@s leaves half of
his property to his widow and remaining to his mother, who
is still alive. The mother now owns 388,000 worth of the
property. The total worth of the property of Mr. Sharma was
A AT A TG F AR, 3 3meh gufw 3R gl F
9 AT § 3 9 3% & d<, W 3 e F v g'e
T § g & At 1 FO A a1, W@ A Frar § ar 3w
mmmmﬁama 9 ST A A @ A
@ 3w ameh Ul 3w fwar ¥ v v v 3w A
F U E A g oY areft s AT ¥ AT F 9w
388,000 Hea &1 wufer §1 4 oAT A gl F1 F Fqew FA
q7?
a)31,00,000 b) X1,24,000

1,28,000 d)31,32000
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A student obtained equal marks in History and
Sociology. The ratio of marks in Sociology and
Geography is 2:3 and the ratio of marks in History
and Philosophy is 1: 2. If he has scored and aggregate
of 55% marks. The maximum marks in each subject is
same. In how many subjects did he scored equal to or
greater than 60% marks?

v fagardt & sfagw ik s arex &
TR 3% A, ARRE T 31 JaT & 3+
2:3 e & § 3R e 3k o W &
H?TWWIZ%IWWWSS%%
g Y ¢ 3R ® Ry & IReaw 3w
AHATT § aY 9a150 39 fFaa vy & 60% &
e T 3+ 3 g1fder 5 &2

a)1l 2 c)3 d) None of these
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